
Ex. 4.3-1. T (n) = T (n − 1) + n. Guess T (n) ≤ c · n2. Then

T (n) ≤ c(n − 1)2 + n

= cn2 − 2cn + c + n

= cn2 + (1− 2c)n + c

≤ cn2

The last step holds as long as

(1− 2c)n + c ≤ 0

(2c − 1)n ≥ c

n ≥ c
2c−1

The recurrence holds so long as c > 1
2 and n0 >

c
2c−1 .



4.3-2. T (n) = T (dn2e) + 1. First attempt. Guess T (n) ≤ c lg n

T (n) ≤ c lgdn2e+ 1

≤ c lg(n2 + 1
2) + 1

= c lg(n+1
2 ) + 1

= c lg(n + 1)− c + 1

We would need this to be less than c lg n . . .



4.3-2. T (n) = T (dn2e) + 1. Try again. This time, guess T (n) ≤ c lg(n − b).

T (n) ≤ c lg(dn2e − b) + 1

≤ c lg(n2 + 1
2 − b) + 1

= c lg(n + 1− 2b)− c + 1

≤ c lg(n − b)

The last part holds if n + 1− 2b ≤ n − b, so b ≥ 1; and if −c + 1 ≤ 0, so c ≥ 1.



4.3-6. T (n) = 2T (bn2c+ 17) + n. Guess cn lg n. Then

T (n) = 2T (bn2c+ 17) + n

≤ 2c(bn2c+ 17) lg(bn2c+ 17) + n

≤ 2c(n2 + 17) lg(n2 + 17) + n

= c(n + 34)(lg(n + 34)− 1) + n

= cn lg(n + 34)− cn − c34 + n

This isn’t working out.



4.3-6. T (n) = 2T (bn2c+ 17) + n. Try again, this time guess c(n − 34) lg(n − 34).

T (n) = 2T (bn2c+ 17) + n

≤ 2c(bn2c+ 17− 34) lg(bn2c+ 17− 34) + n

≤ 2c(n2 + 17− 34) lg(n2 + 17− 34) + n

= c(n − 34) lg(n−34
2 ) + n = c(n − 34)(lg(n − 34)− 1) + n

= c(n − 34) lg(n − 34)− cn + 34c + n ≤ c(n − 34) lg(n − 34)

The last step holds if −cn + 34c + n ≤ 0.

cn − 34c ≤ n

c ≥ n
n−34

Notice that as n gets bigger, the ratio gets closer to 1, but will always be slightly
bigger. Pick c = 2. Then we need 2n − 68 ≥ n, or n ≥ 68.



4.3-9. T (n) = 3T (
√
n) + lg n. Let m = lg n, n = 2m. Then define

S(m) = T (2m)

= 3T (2
m
2 ) + lg 2m

= 3T (2
m
2 ) + m

= 3S(m2 ) + m

What do you do with that? Guess cm lgm.

= 3c m
2 lg m

2 + m

= 3
2cm lgm − 3

2cm + m

This isn’t working out. In fact, the complexity class is wrong.



4.3-9. T (n) = 3T (
√
n) + lg n. Again, let m = lg n, n = 2m, and S(m) = 3S(m2 ) + m.

Then guess mlg 3 − m
2 . (Of course.)

S(m) = 3S(m2 ) + m

= 3((m2 )lg 3 − m
2 ) + m

= 3mlg 3

2lg 3 − 3
2m + m

= 3mlg 3

3 + −3+2
2 m

= mlg 3 − m
2

So, S(m) = Θ(mlg 3) = Θ((lg n)lg 3).


